	The ________ process is the process through which a decision-maker passes beginning with knowledge acquisition and ending with the decision to adopt or reject an innovation.
	A.
	implementation



	B.
	innovation diffusion



	C.
	persuasion



	D.
	technology adoption






	2.
	The technology adoption process is ________ in nature.
	A.
	relatively unpredictable



	B.
	task-technology independent



	C.
	cyclical



	D.
	linear






	3.
	Understanding human attitudes toward a new technology is important to IT managers because:
	A.
	about one-half of the general population is slow to adopt new technology.



	B.
	most people prefer new, improved ways of performing their jobs.



	C.
	some of the users will require training after implementation.



	D.
	all of the above.






	4.
	Why is management support critical to the successful introduction of a new system?
	A.
	They need to be familiar with the technical operation of the system to assist with implementation.



	B.
	Top executives need to champion the implementation to insure that all users have a positive attitude toward changes in business processes.



	C.
	Environmental aspects of technology adoption must be carefully weighed and considered before and during the adoption of a new system.



	D.
	Without their strong support, the adoption and implementation of any new system can be delayed or blocked.






	5.
	Implementation of a new information system typically involves:
	A.
	a change in the way business is currently conducted.



	B.
	forcing employees to use the system.



	C.
	selecting one or more vendors.



	D.
	outsourcing the system development and user training.






	6.
	Estimates of failed projects range from _________ percent, especially implementations that are ________.
	A.
	10 to 25; financial



	B.
	30 to 70; enterprisewide



	C.
	40 to 50; outsourced



	D.
	50 to 75; departmental






	7.
	Many companies view training programs to maximize employees' knowledge and confidence levels in using new systems as:
	A.
	an unnecessary expense



	B.
	a critical success factor



	C.
	only necessary for extremely large projects



	D.
	necessary for all users for every new system






	8.
	_________ is the extent to which a new system is perceived as useful and easy to use by users.
	A.
	System compatibility



	B.
	Quality of training



	C.
	Pilot approach



	D.
	User Acceptance






	9.
	Typical consequences of bad IT project management include each of the following except:
	A.
	cost overruns



	B.
	failure to meet deadlines



	C.
	poor user acceptance



	D.
	system performance that fails to meet user expectations






	10.
	The most important thing to remember in managing the implementation process is that:
	A.
	the system belongs to and is designed for the user, and not the IT staff.



	B.
	technical issues must be addressed before organizational issues.



	C.
	project managers need to have strong technical knowledge.



	D.
	training must immediately follow implementation.






	11.
	Each of the following statements describe business processes except:
	A.
	A process has both inputs and outputs.



	B.
	The activities and tasks of a process can be measured.



	C.
	Many processes cut across functional areas of the enterprise.



	D.
	Complex processes often need to be outsourced for easier management.






	12.
	The value of _________ is that the organization can save a tremendous amount of money by radically improving processes before automating them with expensive enterprise-wide software.
	A.
	project management



	B.
	business process management



	C.
	workflow management



	D.
	business process reengineering






	13.
	In the vast majority of cases, (approximately 90 to 95%), the problem in introducing new systems is due to problems with the:
	A.
	infrastructure



	B.
	technology



	C.
	people



	D.
	vendor






	14.
	According to Lewin's Three-Stage Change Model, during the _________ stage, managers need to determine the level and location of resistance and address it to move people towards the next stage.
	A.
	unfreezing



	B.
	change



	C.
	freezing



	D.
	debriefing






	15.
	The IT adoption process is relatively unpredictable.
	A.
	True



	B.
	False






	16.
	By its very nature, the successful implementation of a large information system is highly dependent on the company environment and its culture.
	A.
	True



	B.
	False






	17.
	Companies who have merged need to examine processes across their lines of business to discover which one is the most efficient and effective.
	A.
	True



	B.
	False






	18.
	In the short term, business process management (BPM) helps companies improve profitability by decreasing costs and increasing revenues. In the long term, BPM helps create competitive advantage by improving organizational agility.
	A.
	True



	B.
	False






	19.
	Changes and compromise are difficult to achieve, and change is often resisted unless the new system has advantages over the older one.
	A.
	True



	B.
	False
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